Chapter 10 – Process Intelligence

Additional Exercise

Analyze the following event log using a process mining tool (e.g. ProM or Disco):

· Link to MXML log

Based on your analysis, produce a readable BPMN diagram (as complete as possible) that corresponds to the behavior observed in the logs.

Hint: You can start by using an algorithm to generate a Petri net (heuristic or genetic miner). Use this net for understanding the main structure of your BPMN model. The you may use the Fuzzy Miner to identify exceptional paths in the Petri net. You can consider a path as exceptional if its significance is higher than 0.1 and lower than 0.4. 

In the BPMN model, use error events and exception flows to represent exceptional paths. Use the Decision Point analysis to identify the branching conditions of your BPMN model (when possible). Indicate the routing probabilities of each decision point of your model (use the analysis plug-in Performance Analysis with Petri net).
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